EARAROBEEIERT — 2 N— IBISH —F

2017558280 (H) SEIEH6H

m C1—9 C1 ¥5%—#% ‘ [X12] # ‘ [eEmsh]l  — | & (&) 1400M =
[A&4] 1 7 :400,000 @ ~ 2 3#%:100,000  ~ 3 3#&:50,000 3 ~ 43#:30,000” . 5 3&:20,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e s ETIES 31, 1-1- 2| - THEE (EH)
: 4 R HA YLD 4 4 5.%:1_0 1(3_1)7 1-1-1-1 | 40.2 1 (ﬁs) v
L:€r/0704 B:hIAL T EEHSG
; o - KA :32. -3-3- 0| - THBE (SH)
o1 7BUZNE-X # 5 36?3 1(352)7 3-3-3-2 | 41.0 6 (5&5) R
R RYIUZXIR BSAYCHIL RaliEe )
SO R it 6 | MRS 1:32.8 3-4-4-5 |40.9| — 4 449 | BRAKEE (SH)
3|55 T1T > RILFx 54.0 (7€) -3) B AL
RIAY>FE2Te BiIAS T 4— =
B4 | BEBX 1:33.1 8-8-4-3 | 41.1| — 9 504 | BEAEH (SH)
4 3 FraOLAa 54.0 (11/2) (+5) iEfth
L:707% B:FLZTTY NEHIE
o = s 6 | B)IIEGA 1:33.2 7-7-7-4 | #1.0| — 2 520 | BEEE— (&)
5 2 *X2T7F+%5 56.0 (1/2) 1) BHEH
XD THANAN BT 494XT a1 L1 T14577—14
= N s 4 | BUFFEZC 1:33.5 5-5-4-7 |41.6| — 8 420 | BBF— (BH)
6|8[10| 71 AZ~PEE %53.0 (1 172) vy | EHEE
RTHIHRL TR BT REC M- 1 yHRF—T I
N . > 6 | AEBHEER 1:33.8 2-2-2-6 |42.1| — 3 549 | BURTEE] (&)
718|9 E-E-7JL1> - 56.0 (1 1/2) (+5) ERER
LY I5N7>F— BE-E-TLIv— b i)
Y 4t 5 | BHRBE 1:34.0 10-9-9-9 [41.0 — 7 468 | HAAEEE) ()
gl7lg|T>>Y7=XTI— 54.0 (3/4) (5 | (B JPNEH
R —NFZXH>TF— BFRILE =1 N E%5%
o e LHFE :34. —6-8- . — E#EfEE (SH)
o 6| A7V Y keI K B4 i 1(324)4 6-6-8-8 | 42.0 5 (452) iond
¥ vv¥/FEF BT —2K/T7-0L FEMS
5K f 5 | BAKH 1:36.3 9-10-10-10 | 42.7 | — | 10 | 474 |EARfE— (FH)
101717 A K= ¥53.0 (9) +7) HHFE
Z:Nd B:T7Ir K= BREB 45
® 1—F—@EBIERL
1T=7r= 4,9,(1,5),10,6,2,3,7,8
23— — 4,9,1,5,10,6,2,3,8,7
Ja=5= 4,9,1,(3,5,10),2,6,8,7
43—+ — 4,1,3,2,5,9,10,6,8,7
[ N5
BB 4 300M | | 71 K 1-4 4601 | | # = 1-4 3,020 | | 3ER 1-4-5 4,920M
B B 4 140M 4-5 280M B = 1-4 2,190M JEE 4-1-5 15,850M
1 300H 1-5 1,430H B H 4-1 3,140M
5 210
ABICOVWTRHDTERERRODLDE, THERLE,




